
8

9

7

6

2

12

13

5

3

1

4

Tighten to 57 ft-lb (77 Nm)

11

14

10

Tighten to 23 ft-lb (31 Nm)

Notes:
Ramsey 251128 production as of 2021 1.
does not match the 1992 design 
shown. Substitute HFT 90476 or 62446 
for a more visually accurate style.
For greater strength, substitute #8 and 2.
#9 for Grade 8 and tighten to 80 ft-lb.
For greater strength, substitute on 3.
winch feet only #10, #11, #12, and 
#14 for Grade 8 and tighten to 33 ft-lb.
For superior corrosion resistance, 4.
substitute on hawse fairlead only #11, 
#12 and #13 for stainless steel. 

# PART QTY.
1 Ramsey 251128/295137 Channel 1
2 Ramsey 251152 Hawse Fairlead 1
3 Ramsey REP-6000 Winch Assembly 1
4 Driver Side Tow Eye 1
5 Passenger Side Tow Eye 1
6 5/16" Front Channel Spacer 2
7 1/2" Rear Channel Spacer 2
8 1/2" ID (7/16" USS) Grade 5 Washer 4
9 1/2"-13 x 2" Grade 5 Hex Bolt 4
10 3/8" ID (5/16" USS) Grade 5 Washer 4
11 3/8" Grade 5 Split Lock Washer 6
12 3/8"-16 Grade 5 Hex Nut 6
13 3/8"-16 x 1-1/8" Grade 5 Hex Bolt 2
14 3/8"-16 x 1-1/4" Grade 5 Hex Bolt 4


